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Quesi_ionsd to 3 carry 1 mark each,
Questions 4 to 5 carry 2 marks each.
For each question, four opiions are given. One ofthem is the correct answer. Make

yourchmce (1 2,30r4). (7 marks)

1. 809{}0&0+60000+5000+20+1.=

1) 8006521

2) 8065021

3) 8605021

4} 8650021 ( )

) ! 3 6
2 Whiat is the value of 3 X -7~.?

b2
2) —
3) =
2 : . _ { )
3. Find the value of 18 + 108 + (42 - 33)x 2,

1) 24
2) 28
3 42
4). 60

2 Sub-Total:




In a restaurant, }-of the people were men

1) 24

2) 36

3) 42

4) 54

o

' %—of the remainder were children

and the rest were women. There were 18 women. H

ow many people were in. -
the restaurant?

Chioe paid $154 for 2 blouses and a skirt. Each blouse cost three times as

much as the skitt. What was the total cost of a blouse and a skirt?

1)
2)
3)

4)

$22
$66

588

$132 -

3 Sub-Total:
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Questions 6 to 8 carry 4 mark each.

Questions 9 to 10 cary 2 marks each.

Show your working clearly in the space provided for each question and write your
answers in-the spaces provided. For questions which require units, give your
~ answers in the units stated, {7 marks) , _

8. Use all the digits 6, 1,0, 9, 7 to form a number closest o 18 000.

Answer
7.  Express 6 cm as a fraction of 2 m,
Give your answer in its simplest form.
Answer:
8.  Divide 5120 by 40.
Answer;

4 _ Sub-Total:




0, Cheng Wel has 195 marbles, He wants to
Each packet can contain a maxirauy
of packets he will need?

put all the marbles intd packets.
m of 10 marbles. What is the least number

Answer ;

3 2 .
10. Bala had % kg of sugar. He used 3 of it to bake some muffins, How many

kilogram of sugar had he left? Give your answer as a fraction in its simplest
form.

Answer: ke

5 Sub-Total; Cl
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For questions 11 to 13, show your working dearly and write your answers in the
spaces provided. The number of marks available is shown in brackets | ] at the
end of each question of part-guestion. (11 marks}

11.  Jeffri had 3 times as much money as Kenneth. Lincoln had 2 times. as’
much money a$ Jeffrl. Lincoln and Kenneth had 2 totdl of $126. How
mueh money did the 3 children have altogether?

Ans: _

N

6 Sub-Total: | l:
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. 2
12:. Maybel had a totai of 80 blue and red beads. She used z of the blize beads and

24 red beads. In the end, she had equal number of blue and red beads left.
- How many more red beads than blue beads were there at first?

Ans 41

7 Sub-Total;
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13. The number of lollipops in Jar A was 12 more than the number of lollipops in
Jar B. When 24 lolipops were transferred from Jar A to Jar B, the number of
lolfipops in Jar B became 3 imes that of Jar A. Find the total number of

~ lollipops in Jar A atfirst. :

Ans: A

~ End of Paper~

8 Sub-Total;
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Q6 17960
3
Q7 100
Q8 128
195+10=19R5
@9 19+1=20
Fraction left = 1 .-%:l
Q10 _3_)(-1_.__1_k
43" 29
Jeffri — 3u, Kenneth — 1y, Lincoln — 6y
Bu+lu="7u
7u=3%$126
an WU=$%$18
3u+7u=10y

10u=10x$18=$180 -

Blue had 3u left, Red had 3u left
Blue at first — 5y

bu+ 3u=8u
Bu=80-24=58

=7

Bu=5x7=35

Red atfirst=(3x7) + 24 = 45
45-35=10

20=24+12=36
Q13 [w=18
18+24=42

Q12
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